Sanity-Check for WIND.nc

Var: WIND
WIND min
[in: 1.95e-02 —
400 qmax: 4.56e AR v 1.4 400
mean: 6.53%
Jstd: 3.10e-01
350 q_2: 2.16e-01 19 350
q_50: 5.97e-01 -
300 qq_9s8: 1.43e+00 5 300 A
250 A ) 550 -
200 - - 0.8 200 -
150 A L 0.6 150 A
100 A 100 A
. 0.4
50
i v
0 +—== e SN 0
0 100 200 300 400
WIND mean
min: 7.90e-01
400"max:&81e+pp 103f
mean: 4.15e 6.0
Jstd: 9.62e-01
350 q_2: 2.28e+00 -
g_50: 4.14e+00 .
300 q_98: 6.29e+00 . .
: B 50 (V)
C
o
- 4.5 5
O
O
- 4.0 o
Y
o
- 3.5 3#
3.0
2 |
2.5 107 1

WIND max

Tmax: 2.54e+01
|std: 2.69e+00

min: 2.07e+00
mean: 1.04e
g_2: 6.09e+00

g 50:1.01e+01
q_98: 1.75e+01 "

50 {2 .

0 100

200
WIND mean - distribution

300 400

16

- 14

-12

- 10




